// *******************************************************************
// MathOperations6.java By: Aiman Hanna (C) 1993 - 2016
// This program illustrates more of type casting
//
// Key Points: 
// 
1) Type casting
// *******************************************************************
public class MathOperations6 {

public static void main(String[] args) {


int iVal1 = 10, iVal2 = 23, iVal3 = 78, iResult;


double dVal1 = 8.0, dVal2 = 30.0, dResult;


System.out.println("The value of iVal1 is now: " +  iVal1);


System.out.println("The value of iVal2 is now: " +  iVal2);


System.out.println("The value of iVal3 is now: " +  iVal3 + "\n");


iResult = iVal2/iVal1; 
// Is the result an integer or double value?


System.out.println("The value of iResult = iVal2/iVal1 is: " +  iResult);


dResult = iVal3/iVal1; 
// Is the result an integer or double value?


System.out.println("The value of dResult = iVal3/iVal1 is: " +  dResult);


dResult = (double)(iVal3/iVal1); 
// Is that casting too late!


System.out.println("The value of dResult = (double)(iVal3/iVal1) is: " +  dResult);


dResult = (double)iVal3/iVal1; 
// Cast iVal3 to double before division 


System.out.println("The value of dResult = (double)iVal3/iVal1 is: " +  dResult);


System.out.println("\nThe value of dVal1 is now: " +  dVal1);


System.out.println("The value of dVal2 is now: " +  dVal2);


iResult = (int)(dVal2/dVal1); 
// Would iResult = dVal2/dVal1; be valid?


System.out.println("The value of iResult = (int)(dVal2/dVal1) is: " +  iResult);


dResult = dVal2/iVal2; 
// Is that legal?


System.out.println("The value of dResult = dVal2/iVal2 is: " +  dResult);


dResult = dVal2/dVal1; 



System.out.println("The value of dResult = dVal2/dVal1 is: " +  dResult);

}
}
/* The Output
The value of iVal1 is now: 10
The value of iVal2 is now: 23
The value of iVal3 is now: 78
The value of iResult = iVal2/iVal1 is: 2
The value of dResult = iVal3/iVal1 is: 7.0
The value of dResult = (double)(iVal3/iVal1) is: 7.0
The value of dResult = (double)iVal3/iVal1 is: 7.8
The value of dVal1 is now: 8.0
The value of dVal2 is now: 30.0
The value of iResult = (int)(dVal2/dVal1) is: 3
The value of dResult = dVal2/iVal2 is: 1.3043478260869565
The value of dResult = dVal2/dVal1 is: 3.75
*/ 
